
CHEMISTRY

BOOKS - FULL MARKS CHEMISTRY (TAMIL ENGLISH)

ELECTRO CHEMISTRY

Example Problems

1. A conductivity cell has two platinum electrodes separated by a distance

1.5 cm and the cross sectional area of each electrode is 4.5 sq. cm. Using

this cell, the resistance of 0.5 N electrolytic solution was measured as

. Find the specific conductance of the solution.

View Text Solution

15Ω

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7nJdogN5lnGE


2. Calculate the molar conductance of 0.025 M aqueous solution of

calcium chloride at  . The specific conductance of calcium chloride is

.

View Text Solution

25∘C

12.04 × 10− 2Sm− 1

3. The resistance of a conductivity cell is measured as  using

 solution (specific conductance of 0.1 M KCl is . When

the same cell is filled with 0.003 M sodium chloride solution, the

measured resistance is  . Both these measurement are made at a

particular temperature. Calculate the specificc and molar conductance of

 solution.

View Text Solution

190Ω

0.1KKCl 1.3Sm− 1)

6.3Ω

NaCl

4. The net redox reaction of a galvanic cell is given below 

 


Write the half reactions and describe the cell using cell notation.

2Cr(s) + 3Cu2 +
( aq ) → 2Cr3 +

( aq ) + 3Cu ( s )

https://dl.doubtnut.com/l/_20gv7mHFVjFt
https://dl.doubtnut.com/l/_GFOhSXoJYxRH
https://dl.doubtnut.com/l/_EelASUvb8Vcy


Textbook Evaluation Choose The Correct Answer

View Text Solution

5. Let us calculate the emf of the following cell at  using Nernst

equation. 

View Text Solution

25∘C

Cu(s)∣∣Cu
2 + (0.25aq. M)∣∣∣∣Fe

3 + (0.05aqM)∣∣Fe
2 + (0.1aqM) ∣ pt(s)

6. A solution of silver nitrate is electrolysed for 20 minutes with a current

of 2 ameres. Calculate the mass of silver deposited at the cathode.

View Text Solution

1. The number of electrons that have a total charge of 9650 coulombs is

…………………. .

https://dl.doubtnut.com/l/_EelASUvb8Vcy
https://dl.doubtnut.com/l/_UHDV3WC7Cunp
https://dl.doubtnut.com/l/_cNI4f51jRDKl
https://dl.doubtnut.com/l/_SfM2YoZ5Ucre


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

6.22 × 1023

6.022 × 1024

6.022 × 1022

6.022 × 10− 34

2. Consider the following half cell reactions : 

 


 


The  for the reaction , and the possibility

of the forwad reactions are respectively

A. 2.69V and spontaneous

B.  and non spotaneous

C. 0.33V and Spontaneous

Mn2 + + 2e− → MnE ∘ = − 1.18V

Mn2 + → Mn3 + + e−E ∘ 0 = − 1 .51V

E ∘ 3Mn2 + → Mn + 2Mn3 +

−2.69

https://dl.doubtnut.com/l/_SfM2YoZ5Ucre
https://dl.doubtnut.com/l/_WgPVBploYW4x


D. 4.18 V and non spontaneous

Answer: B

View Text Solution

3. The button cell used in watches function as follows 

`Zn_a + Ag_(2)O(s) + H_2O_((l))

A. 0.84 V

B. 1.34 V

C. 1.10 V

D. 0.42 V

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_WgPVBploYW4x
https://dl.doubtnut.com/l/_OLArvrhRCsH7


4. The molar conductivity of a  solution of  with

electrolytic conductivity of  at 298 K is ………….. .

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

0.5moldm− 3 AgNO3

5.76 × 10− 3Scm− 1

2.88Scm2mol− 1

11.52Scm2mol− 1

0.086Scm2mol− 1

28.8Scm2mol− 1

5.  


Calculate  using appropriate molar conductances of the

electrolytes listed above at infinite dilution in water at .

A. 

Λ ∘
HOAc

25∘C

517.2

https://dl.doubtnut.com/l/_b20NPKS9Z3Fu
https://dl.doubtnut.com/l/_TuSqbbNs3Kab


B. 

C. 

D. 

Answer: C

View Text Solution

552.7

390.7

217.5

6. Faradays constant is defined as

A. charge carried by 1 electron

B. charge carried by one mole of electrons

C. charge requried to deposit one mole of substance

D. charge carried by  electrons

Answer: B

View Text Solution

6.22 × 1010

https://dl.doubtnut.com/l/_TuSqbbNs3Kab
https://dl.doubtnut.com/l/_tAtxBaXoJqft
https://dl.doubtnut.com/l/_MpmxBEykGvRA


7. How many faradays of electricity are required for the following reaction

to occur 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

MnO4− →Mn2 +

5F

3F

1F

7F

8. A current strength of 3.86 A was passed through molten Calcium oxide

for 41 minutes and 40 seconds. The mass of Calcium in grams deposited

at the cathode is (atomic mass of Ca is 40g/mol and 1F = 96500 C).

A. 4

B. 2

https://dl.doubtnut.com/l/_MpmxBEykGvRA
https://dl.doubtnut.com/l/_ZAjgvzg7KAX2


C. 8

D. 6

Answer: B

View Text Solution

9. During electrolysis of molten sodium chloride, the time required to

produce 0.1 mol of chlorine gas using a current of 3A is ………….

A. 55 minutes

B. 107.2 minutes

C. 220 minutes

D. 330 minutes

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_ZAjgvzg7KAX2
https://dl.doubtnut.com/l/_qDUs1lFmZnZg
https://dl.doubtnut.com/l/_k7MUZHgKhdbX


10. The number of electrons delivered at the cathode during electrolysis

by a current of 1A in 60 seconds is (charge of electron = 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1.6 × 10− 19C)

6.22 × 1023

6.022 × 1020

3.75 × 1020

7.48 × 1023

11. Which of the following electrolytic solution has the least specific

conductance ?

A. 2N

B. 

C. 

0.002N

0.02N

https://dl.doubtnut.com/l/_k7MUZHgKhdbX
https://dl.doubtnut.com/l/_uqPqmsRiIOBR


D. 

Answer: B

View Text Solution

0.2N

12. While charging lead storage battery

A.  on cathodc is reduced to Pb

B.  on anode is oxidised to 

C.  on anode is reduced to Pb

D.  on cathode is oxidised to Pb

Answer: C

View Text Solution

PbSO4

PbSO4 PbO2

PbSO4

PbSO4

https://dl.doubtnut.com/l/_uqPqmsRiIOBR
https://dl.doubtnut.com/l/_FukJuurXwYyZ


13. Among the following cells 

I. Leclanche cell  II. Nickel - Cadmiun cell 


III. Lead storage battery  IV. Mercury cell 


Primaru cells are ………….. .

A. I and IV

B. I and III

C. III and IV

D. II and III

Answer: A

View Text Solution

     

     

14. Zinc can be coated on iron to produce galvanized iron but the reverse

is not possible. It is because

A. Zinc is lighter than iron

https://dl.doubtnut.com/l/_IWYTilBUp1Gi
https://dl.doubtnut.com/l/_dwDkWZoU1F2P


B. Zinc has lower melting point than iron

C. Zinc has lower negative electrode potential than iron

D. Zinc has higher negative electrode potential than iron

Answer: D

View Text Solution

15. Assertion : pure iron when heated in dry air in converted with a layer

of rust. 

Reason : Rust has the compostion 

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. assertion is true but reason is false.

Fe3O4

https://dl.doubtnut.com/l/_dwDkWZoU1F2P
https://dl.doubtnut.com/l/_kWHBCGkQsg7U


D. both assertion and reason are false.

Answer: D

View Text Solution

16. In  fuel cell the reaction occur at cathode is …………… .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

H2 − O2

O2(g) + 2H2O(l) + 4e− → 4OH − (aq)

H + (aq) + OH − (aq) → H2O(l)

2H2(g) + O2(g) → 2H2O(g)

H + + e− → 1/2H2

https://dl.doubtnut.com/l/_kWHBCGkQsg7U
https://dl.doubtnut.com/l/_0Jq0lhp07mUw


17. The equivalent conductance of  solution of a weak monobasic

acid is  and at infinite dilution is . The dissociation

constant of this acid is ………………….. .

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

M /36

6mhocm2 400mhocm2

1.25 × 10− 6

6.25 × 10− 6

1.25 × 10− 4

6.25 × 10− 5

18. A conductivity cell has been calibrated with a 0.01M, 1:1 electrolytic

solution (specific conductance  in the cell and

the measured resistance was  at . The cell constant is,

A. 

(k = 1.25 × 10− 3Scm− 1)

800Ω 25∘C

10− 1cm− 1

https://dl.doubtnut.com/l/_Hvr68v03rt4w
https://dl.doubtnut.com/l/_YbOxlBCV8yS6


B. 

C. 

D. 

Answer: C

View Text Solution

101cm− 1

1cm− 1

5.7 × 10− 12

19. Conductivity of a saturated of a sparingly soluble salt AB (1:1

electrolyte) at 298 K is . Solubility product of the salt

AB at 

A. 

B. 

C. 

D. 

Answer: D

1.85 × 10− 5Sm− 1

298(Λ ∘
m) = 14 × 10− 3Sm2mol− 1

5.7 × 10− 12

1.32 × 10− 12

7.5 × 10− 12

1.74 × 10− 12

https://dl.doubtnut.com/l/_YbOxlBCV8yS6
https://dl.doubtnut.com/l/_D3H2wCyYYIdr


View Text Solution

20. In the electrochemical cell : ,

the emf of this Daniel cell is . When the concentration of , is

changed to 1.0 M and that  changed to 0.01M, the emf changes to

. From the following , which one is the relationship between 

 ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Zn|ZnSO4(0.01M)|CuSO4(1.0M) ∣ Cu

E1 ZnSO4

CuSO4

E2

E1 and E2

E1 < E2

E1 > E2

E2 = 0 ↑ E1

E1 = E2

https://dl.doubtnut.com/l/_D3H2wCyYYIdr
https://dl.doubtnut.com/l/_5bgUB85qlcLR


21. Consider the change in oxidation state of Bromine corresponding to

different emf values as shown in the diagram below : 

 


Then the species undergoing disproportional is .................. .

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

BrO
−
4

1.82V
−−→ BrO−

3

1.5V
−−→ HBrO

1.595V
−−−→ Br2

1.0652V
−−−−→ Br−

Br2

BrO
−
4

BrO−
3

HBrO

22. For the cell reaction 

 


 at  The standard Gibbs energy  of the cell

reactions is :

2Fe3 + (aq) + 21 − (aq) → 2Fe2 + (aq) + 12(aq)

E ∘
cell = 0.24V 298K. (Δ, G∘ )

https://dl.doubtnut.com/l/_04xynGwxVNDi
https://dl.doubtnut.com/l/_iFqus03kIJOq


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

−46.32KJmol− 1

−23.16KJmol− 1

46.32KJmol− 1

23.16KJmol− 1

23. A certain current liberated 0.504 gm of hydrogen in 2hours. How

many grams of copper can be liberated by the same current flowing for

the same time in a copper sulphate solution?

A. 

B. 

C. 

D. 

31.75

15.8

7.5

63.5

https://dl.doubtnut.com/l/_iFqus03kIJOq
https://dl.doubtnut.com/l/_hEQTTqP06GKE


Answer: B

View Text Solution

24. A gas X at 1 atm is bubble through a solution containing a mixture of

 and  at  . If the reduction potential of ,

then

A. Y will oxidized X and not Z

B. Y will oxidize Z and not X

C. Y will oxidize X and Z

D. Y will reduce both X and Z

Answer: A

View Text Solution

1MY − 1MZ − 25∘C Z > Y > X

https://dl.doubtnut.com/l/_hEQTTqP06GKE
https://dl.doubtnut.com/l/_ggmyiKfIoW8T


Textbook Evaluation Short Answer

25. Cell equation :  , 


 and  at 300 K for cell

reaction find  for 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

A + 2B− → A2 + + 2B

A2 + + 2e− → AE ∘ = + 0.34V log10 K = 15.6

E ∘ B1 + e− →B

0.80

1.26

−0.54

−10.94

1. Define anode and cathode .

View Text Solution

https://dl.doubtnut.com/l/_d6pYAPGOi00S
https://dl.doubtnut.com/l/_Xlgl3xzhshQn


2. Why does conductivity of a solution decrease on dilution of the

solution ?

View Text Solution

3. State Kohirausch Law. How is it useful to determine the molar

conductivity of weak electrolyte at infinite dilution.

View Text Solution

4. Describe the electrolysis of molten  using inert electrodes.

View Text Solution

NaCl

5. State Faraday's Laws of electrolysis.

View Text Solution

https://dl.doubtnut.com/l/_9Gnt2KON4Xt3
https://dl.doubtnut.com/l/_AqqVKIO8Dy2J
https://dl.doubtnut.com/l/_IdzLklYcbMs9
https://dl.doubtnut.com/l/_ufZTfnbHu7BO
https://dl.doubtnut.com/l/_DAWKt1EEkAg2


6. Describe the construction of Daniel cell. Write the cell reaction.

View Text Solution

7. Why is anode is galvanic cell considered to be negative and cathode

positive electrode ?

View Text Solution

8. The conductivity of a 0.01 M solution of a  weak electrolyte at 298 K

is . 


(i) molar conductivity of the solution 

(ii) degree of dissociation and the dissociation constant of the weak

electrolyte 

Given that  


View Text Solution

1: 1

1.5 × 10− 4Scm− 1

λ ∘
cation = 248.2  S cm2  mol − 1

λ ∘
anion = 51.8 S cm2  mol − 1

https://dl.doubtnut.com/l/_DAWKt1EEkAg2
https://dl.doubtnut.com/l/_n0JtMhaEq85Y
https://dl.doubtnut.com/l/_9CINjcxXO6xF


9. Whichof 0.1M HCl and 0.1 M KCl do you expect to have greater molar

conductance and why?

View Text Solution

10. Arrange the following solution solutions in the decreasing order of

specific conductance. 

(i) 0.01 M KCl (ii) 0.005 M KCl (iii) 0.1 M KCl 

(iv) 0.25 M KCl (v) 0.5 M KCl

View Text Solution

11. Why is AC current used instead of DC in measuring the electrolytic

conductance ?

View Text Solution

https://dl.doubtnut.com/l/_fPjWhhPK4MuX
https://dl.doubtnut.com/l/_cQxE2gX7bwhQ
https://dl.doubtnut.com/l/_yP8VpOpIfsrC


12. 0.01 M NaCl solution is placed in two different cells having cell

constant 0.5 and  respectively. Which of the two will have

greater value of specific conductance.

View Text Solution

0.25cm− 1

13. A current of 1.608 A is passed through 250 mL of 0.5 M solution of

copper sulphate for 50 minutes. Calculate the strength of  after

electrolysis assuming volume to be constant and the current efficiency is

View Text Solution

Cu2 +

100 % .

14. Can  oxidise Bromide to bromine under standard conditions ? 


Given : =-1.09V`

View Text Solution

Fe3 +

EFe3 + ∣Fe2 + = 0.771         E ∘
Br2 ∣Br−

https://dl.doubtnut.com/l/_AINZxihJCPQ7
https://dl.doubtnut.com/l/_xuS0DTi4Uqn1
https://dl.doubtnut.com/l/_OirC9KtcaHdu
https://dl.doubtnut.com/l/_sMR5eiVjangU


15. Is it possible to store copper sulphate in an iron vessel for a long time

? 

Given : 

View Text Solution

E ∘
Cu2 + ∣Cu = 0.34V and E ∘

Fe2 + ∣Fe = + 0.44V

16. Two metals  have reduction potential values of  and 

 respectively. Which will liberate  in ?

View Text Solution

M1 and M2 −xV

+yV H2 H2SO4

17. Calculate the standard emf of the cell :  and

determine the cell reaction. The standard reduction potential of

 and  are 0.34 V and -0.40 volts respectively.

Predict the feasibility of the cell reaction.

View Text Solution

Cd∣∣Cd
2 + ∣∣Cu

2 + ∣ Cu

Cu2 + ∣ Cu Cd2 + ∣∣Cd
2∣∣Cd

https://dl.doubtnut.com/l/_sMR5eiVjangU
https://dl.doubtnut.com/l/_wQu8XYVWWTOZ
https://dl.doubtnut.com/l/_aA6KVU0XhgVk


18. In fuel cell  react to produce electricity . In the process, 

gas is oxidised at the anode and  at cathode. If  litre of  at 

 and also pressure reacts in 10 minutes, what is average current

produced ? If the entire current is used for electro deposition of Cu from

 , how many grams of Cu deposited ?

View Text Solution

H2 and O2 H2

O2 44.8 H2

25∘C

Cu2 +

19. 0.1 M copper sulphate solution in which copper electrode is dipped at

. Calculate the electrode potential of copper. [Given 

View Text Solution

25∘C

E ∘
Cu2 + ∣Cu = 0.34]

20. For the cell , calculate the

equilibrium constant at  and maximum work that can be obtained

during operation of cell. Given :

Mg(s)∣∣Mg2 + (aq)∣∣∣∣Ag
+ (aq)∣∣Ag(s)

25∘C

E ∘
Mg2 + ∣Mg

= + 2.37V and E ∘
Ag2 + ∣Ag = 0.80V

https://dl.doubtnut.com/l/_FMB7TvccDmfY
https://dl.doubtnut.com/l/_Bkijj6t5P6Q3
https://dl.doubtnut.com/l/_dJ99Qm1qKf81


View Text Solution

21.  litres of water is available in a lake. A power reactor using

the electrolysis of water in the lake produces electricity at the rate of

 at an appropriate voltage. How many years would it like to

completely electrolyse the water in the lake. Assume that there is no loss

of water except due to electrolysis.

View Text Solution

8.2 × 1012

2 × 106Cs− 1

22. Derive an expression for Nernst equation.

View Text Solution

23. Write a not on sacrificial protection.

View Text Solution

https://dl.doubtnut.com/l/_dJ99Qm1qKf81
https://dl.doubtnut.com/l/_2UTRvwpKzi3H
https://dl.doubtnut.com/l/_IK6fPN51RMP1
https://dl.doubtnut.com/l/_Qrclz47mewTG
https://dl.doubtnut.com/l/_J5U0M06UaeCj


Evaluate Yourself

24. Example the function of  fuel cell.

View Text Solution

H2 − O2

25. Ionic conductance at infinite dilution of  are 189 and

160 mho . Calculate the equivalent and molar conductance of

the electrolyte  at infinite dilution.

View Text Solution

Al3 + and SO
2 −
4

cm2equiv − 1

Al2(SO4)3

1. Calculate the molar conductance of 0.01M aqueous KCl solution at

. The specific conductance of KCl at  is .

View Text Solution

25∘C 25∘C 14.114 × 10− 2Sm− 1

https://dl.doubtnut.com/l/_J5U0M06UaeCj
https://dl.doubtnut.com/l/_FNBDjuCegPIC
https://dl.doubtnut.com/l/_Vadv2Mz6R4Lt


2. The resistance of 0.15M solution of an electrolyte is . The specific

conductance of the solution is . The resistance of 0.5 N solution

of the same electrolyte measured using the same conductivity cell is

. Find the equivalent conductivity of 0.5 N solution of the electrolyte.

View Text Solution

50Ω

2.4Sm− 1

480Ω

3. The emf of the following cell at  is equal to . Calculate the

reduction potential of copper electrode. 

.

View Text Solution

25∘C 0.34v

Pt(s)|H2(g, 1atm)|H + (aq, 1M)∣∣Cu
2 + (aq, 1M)∣∣Cu(s)

4. Using the calculated emf value of zinc and copper electrode, calculate

the emf of the following cell at  


View Text Solution

25∘C

Zn(s)∣∣Zn
2 + (aq, 1M)∣∣Cu

2 + (aq, 1M) ∣ Cu(s)

https://dl.doubtnut.com/l/_Rlml2iRPuOle
https://dl.doubtnut.com/l/_dCcE4eqNPboy
https://dl.doubtnut.com/l/_xSO7R5TL6M84


5. Write the overall redox reaction which takes place in the galvanic cell, 

View Text Solution

Pt(s)∣∣Fe
2 + (aq), Fe3 + (aq)∣∣∣∣MnO

−
4 (aq), H + (aq), Mn2 + (aq)∣∣Pt(s)

6. The electrochemical cell reaction of the Daniel cell is 

 


What is the change in the cell voltage on increasing the ion

concentration in the anode compartment by a factor 10 ?

View Text Solution

Zn(s) + Cu2 + (aq) → Zn2 + (aq) + Cu(s)

7. A solution of a salt of metal was electrolysed for 150 minutes with a

current of 0.15 amperes. The mass of the metal deposited at the cathode

is . Calculate the equivalent mass of the metal.

View Text Solution

0.783g

https://dl.doubtnut.com/l/_q48gbxzSapuK
https://dl.doubtnut.com/l/_gOb7Qzf2a8ha
https://dl.doubtnut.com/l/_GL0VRN11MoD6


Additional Questions Choose The Best Answer And Write It

1. Which one of the following is an example of conductor?

A. PVC

B. Bakelite

C. Aluminium

D. Rubber

Answer: C

View Text Solution

2. Which one of the following can act as an insulator?

A. Bakelite

B. Aluminium

C. Copper

https://dl.doubtnut.com/l/_VeH3X2YFqRtt
https://dl.doubtnut.com/l/_TnWvS9b8Dymx


D. NaCl Solution

Answer: B

View Text Solution

3. Which form of energy is converted to electrical energy in batteries?

A. tidal energy

B. Chemical energy

C. mechanical energy

D. atomic energy

Answer: B

View Text Solution

4. Electron chemical reactions are generally ………………… .

https://dl.doubtnut.com/l/_TnWvS9b8Dymx
https://dl.doubtnut.com/l/_i0fdzMPmitXK
https://dl.doubtnut.com/l/_713oP83wvCir


A. Reduction reactions

B. Oxidation reactions

C. Redox reactions

D. Condensation reactions

Answer: C

View Text Solution

5. Consider the following statements: 

(i) Energy can neither be created nor be destroyed but one form of

energy can be converted to another form 

(ii) In batteries, electrical energy is converted to chemical energy. 

(iii) Electrochemical reactions are redox reactions. 

Which of the above statement is/are not correct?

A. i & ii only

B. ii only

https://dl.doubtnut.com/l/_713oP83wvCir
https://dl.doubtnut.com/l/_9AkzdD9pUegq


C. i only

D. iii only

Answer: B

View Text Solution

6. Which one of the following represents Ohm's law?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

V = IR

R =
I

V

I =
V

R

R = V I

https://dl.doubtnut.com/l/_9AkzdD9pUegq
https://dl.doubtnut.com/l/_2JU5H6jXeH1K


7. The unit of resistivity is ……….. .

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Ωm− 1

Ωm

m− 1Ohm2

Ω− 1m− 1

8. When cell constant is unit, the resistance is known as ………. .

A. specific resistance

B. conductance

C. specific conductance

D. equivalent conductance

https://dl.doubtnut.com/l/_8ywtqdPVDoBz
https://dl.doubtnut.com/l/_ozPqMPyhk4Tu


Answer: A

View Text Solution

9. The unit of specific resistence is equal to ………………… .

A. Ohm metre

B.  metre

C. 

D. Ohm

Answer: A

View Text Solution

Ohm− 1

Ohm− 1metre− 1

10. Which is the SI unit of conductance?

A. Siemen− 1( or )S − 1

https://dl.doubtnut.com/l/_ozPqMPyhk4Tu
https://dl.doubtnut.com/l/_H7CUXAEPr1Sh
https://dl.doubtnut.com/l/_8nFuybfwcutH


B. Siemen (or) S

C. 

D. 

Answer: B

View Text Solution

Sm− 1

S − 1m− 1

11. Which one of the following represents specific conductance (kappa)?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

⋅
I

C

l

a

⋅
I

P

a

l

⋅
I

P

a

l2

⋅
I

P

l

a

https://dl.doubtnut.com/l/_8nFuybfwcutH
https://dl.doubtnut.com/l/_AzH4edbNSFoL
https://dl.doubtnut.com/l/_DxMNc6qIEm5O


12. Which one is the unit of specific conductance ?

A. Ohm m

B.  m

C. 

D. 

Answer: D

View Text Solution

Ohm− 1

Ohmm− 1

Ohm− 1m− 1

13. Which one of the following formula represents equivalent

conductance?

A. 

B. 

C. 

D. 

⋅
I

P

l

a

⋅
I

P

A

l

C ×
l

a

k × 10− 3

N

https://dl.doubtnut.com/l/_DxMNc6qIEm5O
https://dl.doubtnut.com/l/_xjtTDNvSPgnx


Answer: D

View Text Solution

14. The unit of equivalent conductance is ……………….. .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Sm2gequivalent − 1

Sm− 1

Ohm− 1m− 1

Ohmm

15. Consider the following statement : 

(i) Solvent of higher dielectric constant show very low conductance in

solution. 

https://dl.doubtnut.com/l/_xjtTDNvSPgnx
https://dl.doubtnut.com/l/_NLdmc59mceNn
https://dl.doubtnut.com/l/_MTtngnps2IMB


(ii) Conductance is directly proportional to viscosity of the medium .

(iii) Molar conductance of a solution increases with increase in dilution. 

Which of the above statement is l are correct ?

A. i & ii

B. ii and iii

C. iii only

D. i only

Answer: C

View Text Solution

16. Consider the following statements: 

(i) If the temperature of the electrolytic solution increases, conductance

decreases. 

(ii) Conductivity increases with the decrease in viscosity . 

(iii) Molar conductance of a solution decreases with increase in dilution. 

Which of the above statement is l are not correct ?

https://dl.doubtnut.com/l/_MTtngnps2IMB
https://dl.doubtnut.com/l/_yOX94H5RYQ1I


A. i & iii

B. i and iii

C. iii only

D. ii only

Answer: A

View Text Solution

17. Which one of the following is used to measure conductivity of ionic

solutions?

A. metre scale

B. wheat stone bridge

C. Dynamo

D. Ammeter

Answer: B

https://dl.doubtnut.com/l/_yOX94H5RYQ1I
https://dl.doubtnut.com/l/_p5N8xEKtem7O


View Text Solution

18. Which of the following is used to calculate the conductivity of strong

electrolytes?

A. Kohlraush's law

B. Henderson equation

C. Debye-Huckel and Onasager equation

D. Ostwald's dilution law

Answer: C

View Text Solution

19. Which one of the following represents Debye-Huckel and Onasager

equation?

A. (Λ ∘
m)AxBy

= x(λ ∘
m)Ay + y(λ ∘

m)Bx−

https://dl.doubtnut.com/l/_p5N8xEKtem7O
https://dl.doubtnut.com/l/_D453L7yEf1Ci
https://dl.doubtnut.com/l/_rPdM8Zj17F6i


B. 

C. 

D. 

Answer: B

View Text Solution

Λm = Λ ∘
m − (A + BΛ ∘

m)√C

Ka =
α2C

I − α

Λ ∘
m = Λ − (A + B)Λ ∘

m − C

20. The value of A in Debye-Huckel and Onsager equation is ……………. .

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

A =
8.20 × 105

3√DT

A =
8.20 × 10− 5

√DT

A =
82.4

√DTη

A =
82.4

3√DT

https://dl.doubtnut.com/l/_rPdM8Zj17F6i
https://dl.doubtnut.com/l/_un2b7qkfKcgp
https://dl.doubtnut.com/l/_vjBW3w4e1dQv


21. The value of B in Debye-Huckel and Onsager equation is ……………. .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

B =
8.20 × 105

3√DT

B =
8.20 × 10− 5

√DT

B =
82.4

√DTη

B =
82.4

3√DT

22. Kohlrausch's law is applied to calculate …………….. .

A. molar conductance at infinite dilution of a weak electrolyte

B. degree of dissociation of weak electrolyte

C. solubility of a sparingly soluble salt

D. all the above

https://dl.doubtnut.com/l/_vjBW3w4e1dQv
https://dl.doubtnut.com/l/_tK8Me1xVAIJE


Answer: D

View Text Solution

23. In which of the following interconversion of electrical energy into

chemical energy and vice versa take place ?

A. electrochemical cell

B. electric cell

C. Dynamo

D. AC generator

Answer: A

View Text Solution

24. Consider the following statements : 

(i) In Galvanic cell, chemical energy is converted into electrical energy. 

https://dl.doubtnut.com/l/_tK8Me1xVAIJE
https://dl.doubtnut.com/l/_AFimcTjjFpAY
https://dl.doubtnut.com/l/_NlU3hxHdkBaG


(ii) In electrolytic cell, electrical energy is converted into chemical energy. 

(iii) In Voltaic cell, electrical energy is converted into chemical energy. 

Which of the above statement is/are not correct ?

A. i & ii

B. iii only

C. ii only

D. i only

Answer: B

View Text Solution

25. In Galvanic cell, the Zinc metal strip placed gets ……………… .

A. Oxidised

B. reduced

C. hydrolysed

https://dl.doubtnut.com/l/_NlU3hxHdkBaG
https://dl.doubtnut.com/l/_H389GuaLhdfa


D. condensed

Answer: A

View Text Solution

26. Consider the following statements : 

(i) In Galvanic cell, Zinc is oxidised to  ions and  ions are

reduced to copper. 

(ii) In Galvanic cell,  ions are reduced to Zinc and copper is oxidised

to  ions. 


(iii) In Galvanic cell, Zn and copper both get oxidised. 

Which of the above statement is/are correct ?

A. i only

B. ii & iii

C. ii only

D. iii only

Zn2 + Cu2 +

Zn2 +

Cu2 +

https://dl.doubtnut.com/l/_H389GuaLhdfa
https://dl.doubtnut.com/l/_hOwe3qgR0r8W


Answer: A

View Text Solution

27. The salt bridge used in Daniel cell contains ………….. .

A. 

B. Agar-Agar gel + 

C. Silica get + 

D. 

Answer: B

View Text Solution

Na2SO4 + NaCl

Na2SO4

CuSO4

ZnSO4 + CuSO4

28. Consider the following statements: 

(i) In Daniel cell, when the switch (k) closes the circuit, the electrons flow

from Zinc strip to copper strip. 

https://dl.doubtnut.com/l/_hOwe3qgR0r8W
https://dl.doubtnut.com/l/_MXxjRQOrrnng
https://dl.doubtnut.com/l/_Rs1g1wkSujqx


(ii) In Daniel cell, when the switch (k) closes the circuit, the electrons flow

from copper strip to Zinc strip . 

(iii) In Daniel cell, when the Switch (k) opens the circuit, the electrons flow

from Zinc to copper. 

Which of the above statement is/are correct?

A. i only

B. ii & iii

C. ii only

D. iii only

Answer: A

View Text Solution

29. Which one of the following can act as an inert electrode ?

A. Graphite

B. Copper

https://dl.doubtnut.com/l/_Rs1g1wkSujqx
https://dl.doubtnut.com/l/_wDiHUtm6Ohcp


C. Platinum

D. either a (or ) c

Answer: D

View Text Solution

30. The SI unit of cell potential is ……………….. .

A. Ampere

B. Ohm

C. Volt

D. 

Answer: C

View Text Solution

Ohm− 1

https://dl.doubtnut.com/l/_wDiHUtm6Ohcp
https://dl.doubtnut.com/l/_NEMYWjNZJyWf


31. The emf of Daniel cell  is

equal to ………..

A.  Volts

B. 1.107 Volts

C. 3.4 Volts

D.  Volt

Answer: B

View Text Solution

Zn ( s ) + Zn2 +
( aq ) ( lm) ∣ ∣

∣Cu
2 +
( aq ) ( lm)

∣
∣Cu(s)

−1.107

7.6

32. Which instrument is used potential difference ?

A. Ammeter

B. Voltmeter

C. Wheat stone bridge

https://dl.doubtnut.com/l/_z8bsDPQpfiaq
https://dl.doubtnut.com/l/_jujpCZbs4aaN


D. metre bridge

Answer: B

View Text Solution

33. The value of EMF of standard electrode at  is…………….. .

A. maximum

B. zero

C. negative

D. positive.

Answer: B

View Text Solution

25∘C

34. The electrode used in SHE is made of ………….. .

https://dl.doubtnut.com/l/_jujpCZbs4aaN
https://dl.doubtnut.com/l/_fmXsNKhcL8nT
https://dl.doubtnut.com/l/_zWsXSxugMKmI


A. Graphite

B. Copper

C. Platinum

D. iron

Answer: C

View Text Solution

35. What is the charge of one electron ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1.602 × 1019C

1.6 × 10− 19C

9645C

96488C

https://dl.doubtnut.com/l/_zWsXSxugMKmI
https://dl.doubtnut.com/l/_0FWxppzIUJDE


36. The maximum work that can be obtained from a galvanic cell is

………………

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

+nFE

−nFE

2F

96500F

37. For all spotaneous cell reactions, the value of  should be ……….. .

A. constant

B. zero

C. negative

DηG

https://dl.doubtnut.com/l/_0FWxppzIUJDE
https://dl.doubtnut.com/l/_LdNHWAuqaPY7
https://dl.doubtnut.com/l/_hAz3EXE3iLri


D. positive.

Answer: C

View Text Solution

38. The value of one Faraday is equal to ………….. .

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

96400C

96500C

1.602 × 10− 19C

1.602 × 1019C

https://dl.doubtnut.com/l/_hAz3EXE3iLri
https://dl.doubtnut.com/l/_b8XMRnNUmZE2


39. The relationship between standard free energy change and

equilibrium constant is expressed as ……………… .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ΔG∘ = − RT lnkeq

ΔG = RT lnkeq

ΔG∘ =
1

RT lnkeq

ΔG = RT logeq

40. Which equation relates the cell potential and the concentration of

the species involved in an electro chemical reaction?

A. Henderson equation

B. Arrhenius equation

C. Debye Huckel Onsagar equation

https://dl.doubtnut.com/l/_tNBXy0SLeg2l
https://dl.doubtnut.com/l/_cNZdf1cU2Zh3


D. Nernst equation

Answer: D

View Text Solution

41. Which one of the following is Nernst equation,

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Ecell = E ∘
cell + log

0.0591

n

[C]
1
[D]

m

[A]x[B]y

Ecell = E ∘
cell − log

0.0591

n

[A]x[B]y

[C]
1
[D]

m

Ecell = E ∘
cell − log

0.0591

n

[C]
1
[D]

m

[A]
x
[B]

y

Ecell = E ∘
cell + log

0.0591

n

[A]
x
[B]

y

[C]
1
[D]

m

42. Gibbs free energy can be related to cell emf as follows:

https://dl.doubtnut.com/l/_cNZdf1cU2Zh3
https://dl.doubtnut.com/l/_Jl5VB2yPHUmL
https://dl.doubtnut.com/l/_9IKBYWBXOQxy


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

ΔG∘ = − nFEcell

ΔG∘ = − nFE ∘
cell

ΔG = nFEcell

ΔG∘ = nFE ∘
cell

43. Which one of the following represents Faraday's first law ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

m = Zlt

m =
Z

It

m =
It

Z

Z = Mlt

https://dl.doubtnut.com/l/_9IKBYWBXOQxy
https://dl.doubtnut.com/l/_qPjXzxum0yNx


44. When I coulomb of electric current is passed the amount of

substance deposited or liberated is known as ……………….

A. equivalent mass

B. electro chemical equivalent

C. molar mass

D. 1Faraday

Answer: B

View Text Solution

45. The value of electro chemical equivalent is equal to …………. .

A. 

B. 

C. 

96500

Equivalent mass

96500

Molar mass

Molar mass
96500

https://dl.doubtnut.com/l/_qPjXzxum0yNx
https://dl.doubtnut.com/l/_6Cwn9XFjDmrA
https://dl.doubtnut.com/l/_3BmaMae9Lrje


D. 

Answer: D

View Text Solution

Equivalent mass

96500

46. The mathematocal expression of Faraday's second law is …………….. .

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

m = Zit

= =
m1

E1

m2

E2

m3

E3

= =
m1

Z1

m2

Z2

m3

Z3

Z =
m

It

47. Which one of the following is used in cell phone, dry cell in flashlight?

https://dl.doubtnut.com/l/_3BmaMae9Lrje
https://dl.doubtnut.com/l/_2ukQGXEECAaQ
https://dl.doubtnut.com/l/_f5rQpNteJxV6


A. Zn - Cu battery

B. Li - ion battery

C. Ag - Cu battery

D. Na, NaCl battery

Answer: B

View Text Solution

48. The primary bateries are ……………. .

A. rechargeable

B. non-rechargeable

C. reversible

D. renewable

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_f5rQpNteJxV6
https://dl.doubtnut.com/l/_Tlk9wzqcR064


49. Consider the following statements. 

(i) The secondary batteries are rechargeable. 

(ii) Primary batteries are non-rechargeable. 

(iii) Batteries are used as a source of AC current at a constant voltage. 

Which of the above statement is/are not correct?

A. i & ii

B. iii only

C. i only

D. ii only

Answer: B

View Text Solution

50. The anode and cathode used in Leclanche cell are …………….. respectively.

https://dl.doubtnut.com/l/_Tlk9wzqcR064
https://dl.doubtnut.com/l/_5vdFSM5l7P1e
https://dl.doubtnut.com/l/_HIrROTABYCZ9


A. Zinc , Graphite rod with 

B. Graphite rod in  and Zinc container

C. Zn container and copper rod

D. Copper container and Zinc rod

Answer: A

View Text Solution

MnO2

MnO2

51. Which electrolyte is used in Leclanche cell?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

ZnSO4 + CuSO4

NH4Cl + ZnCl2

NaCl + CuSO4

MnSO4 − MnO2

https://dl.doubtnut.com/l/_HIrROTABYCZ9
https://dl.doubtnut.com/l/_FgMwIhwW2K3Z


52. Which one of the following is used as cathode in Mercury button cell ?

A. Zinc

B. Copper

C. Zinc amalgamated with mercury

D. HgO mixed with graphite

Answer: C

View Text Solution

53. Which one of the following is used as anode in Mercury button cell?

A. HgO mixed with graphite

B. Zinc amalgamated with mercury

C. Copper amalgamated with mercury

https://dl.doubtnut.com/l/_FgMwIhwW2K3Z
https://dl.doubtnut.com/l/_6RuPfBfwGIAx
https://dl.doubtnut.com/l/_MsTxxysV95N3


D. HgO mixed with Copper

Answer: A

View Text Solution

54. The value of cell emf of Mercury button cell is …………… .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1.35V

−0.76V

0.34V

100V

https://dl.doubtnut.com/l/_MsTxxysV95N3
https://dl.doubtnut.com/l/_Jikuu8k4Fzdy


55. Which one of the following is used in pacemakers, cameras and

electronic watches ?

A. Li-ion battery

B. Leclanche cell

C. Galvanic cell

D. Mercury button cell

Answer: D

View Text Solution

56. The electrolyte used in Mercury button cell is ………….. .

A. Paste of kOH and ZnO

B. 

C. 

CuSO4 + ZnSO4

NaCl + MgCl2

https://dl.doubtnut.com/l/_apzOJ6s6ZqBP
https://dl.doubtnut.com/l/_pIISalETl4cd


D. 

Answer: A

View Text Solution

NH4Cl + ZnCl2

57. Which of the following is an example of secondary batteries ?

A. Mercury button cell

B. Leclanche cell

C. Lead storage battery

D. Daniel cell

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_pIISalETl4cd
https://dl.doubtnut.com/l/_sejwOK5ZfoDe


58. Which of the following acts as cathode and anode in Lead storage

battery?

A. Lead plate bearing  , spongy Lead

B. Spongy lead, lead plate bearing 

C. Lead Copper

D. Mercury oxide, PbO

Answer: A

View Text Solution

PbO2

PbO2

59. Which one of the folloiwng is used as an electrolyte Lead storage

battery?

A. 

B. 

C. 

PbSO4

H2SO4

CuSO4

https://dl.doubtnut.com/l/_5oRf2TBcTPjc
https://dl.doubtnut.com/l/_vll7UHRuCUOF


D. 

Answer: B

View Text Solution

HNO3

60. The emf of lead storage battery is …………. .

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

+1.1V

2.4V

2V

11.2V

61. The Lead storage battery is used in ……………… .

https://dl.doubtnut.com/l/_vll7UHRuCUOF
https://dl.doubtnut.com/l/_LmeMp7T9eEex
https://dl.doubtnut.com/l/_12YvbIEbJe5U


A. pacemakers

B. automobiles

C. electonic watches

D. flash light

Answer: B

View Text Solution

62. Which one of the following is used in automobiles, trains and in

inverters?

A. Lithium ion battery

B. Mercury button cell

C. Lead storage battery

D. Leclanche cell

Answer: C

https://dl.doubtnut.com/l/_12YvbIEbJe5U
https://dl.doubtnut.com/l/_YbOdVsCiSE3P


View Text Solution

63. Which one of the following is used as an anode in Lithium ion

battery?

A. Porous graphite

B. Lithium

C. 

D. Copper

Answer: A

View Text Solution

CoO2

64. Which one of the following is used as cathode in Lithium ion battery?

A. Porous graphite

B. Lithium

https://dl.doubtnut.com/l/_YbOdVsCiSE3P
https://dl.doubtnut.com/l/_PZoruJ4OyPRS
https://dl.doubtnut.com/l/_uAY7ageuw7rY


C. 

D. Chromium

Answer: C

View Text Solution

CoO2

65. Which one of the following is used in cellular phones, Laptop

computers and in digital camera?

A. Mercury button cell

B. Lithium - ion battery

C.  fuel cell

D. Leclanche cell

Answer: B

View Text Solution

H2O2

https://dl.doubtnut.com/l/_uAY7ageuw7rY
https://dl.doubtnut.com/l/_J422Iy19RKwF
https://dl.doubtnut.com/l/_VjpGnEF1DaDr


66. Which one of the following is used as an electrolyte in  fuel cell?

A. Aqueous 

B. Aqueous 

C. Aqueous 

D. 

Answer: C

View Text Solution

H2O2

CuSO4

CoO2

KOH

NH4Cl + ZnCl2

67. Which one of the following is an example for electrochemical process?

A. Chrome plating

B. Rusting of iron

C. Galvanisation

D. all the above

https://dl.doubtnut.com/l/_VjpGnEF1DaDr
https://dl.doubtnut.com/l/_AtWrsJw3765W


Answer: D

View Text Solution

68. The formula of rust is …………. .

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Fe2O3

Fe2O4. xH2O

FeO

FeO. xH2O

69. Which one of the following is/are very important for rusting?

A. Oxygen

https://dl.doubtnut.com/l/_AtWrsJw3765W
https://dl.doubtnut.com/l/_0JMY9KBdajDk
https://dl.doubtnut.com/l/_PVYzkQApTAcJ


B. Water

C. Both a & b

D. 

Answer: C

View Text Solution

H2O2

70. The electro plating of Zinc over a metal is called………….. .

A. Electrolysis

B. Redox reaction

C. Galvanisation

D. Passivation

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_PVYzkQApTAcJ
https://dl.doubtnut.com/l/_t7l5MCNjIcIQ
https://dl.doubtnut.com/l/_uFatLD9H5o8d


71. Consider the following statements. 

(i) The standard reduction potential  is a measure of oxidising

tendency of the species. 

(ii) The standard oxidation potental  is a measure of oxidising

tendency of the species. 

(iii) The standard oxidation potential  is a measure of redox

tendency of the species. 

Which of the above statement is/are not correct?

A. i only

B. ii only

C. ii & iii

D. iii only

Answer: C

View Text Solution

(E ∘ )

(E ∘ )

(E ∘ )

https://dl.doubtnut.com/l/_uFatLD9H5o8d


72. On the basis of the electrochemical theory of aqueous corrosion, the

reaction occuring at the cathode is …………. .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

O2 ( g ) + 4H +
( aq ) + 4e− → 2H2O ( l )

Fe ( s ) → Fe2 +
( aq ) + 2e−

Fe2 +
( aq ) → Fe3 +

( aq ) + e−

H2 ( g ) + 2OH −
( aq ) → 2H2O ( l ) + 2e−

73. The standard reduction potential for the half reactions are as 

 


. So for cell reaction 

 is ……….. .

A. 

Zn → Zn2 + + 2e−E ∘ = + 0.76V

Fe → Fe2 + + 2e−E ∘ = + 0.41V

Fe2 + + Zn → Zn2 + + Fe

−0.35V

https://dl.doubtnut.com/l/_PamjEPFFkxvP
https://dl.doubtnut.com/l/_JUdyHsYPjPTM


B. 

C. 

D. 

Answer: B

View Text Solution

+0.35V

+1.17V

−1.17V

74. The standard emf for the given cell reaction

 is  at . The emf for the cell

reaction when  solution are used at  is

…….

A. 

B. 

C. 

D. 

Zn + Cu2 + → Cu + Zn2 + 1.10V 25∘C

0.1MCu2 + and 0.1MZn2 + 25∘C

1.10V

0.110V

−1.10V

−110V

https://dl.doubtnut.com/l/_JUdyHsYPjPTM
https://dl.doubtnut.com/l/_jZhcNd6Z9uKp


Answer: A

View Text Solution

75. Which amount of chlorine gas liberated at anode, if 1 ampere current

is passed for 30 minutes from NaCl solution?

A.  moles

B.  moles

C.  g

D. g

Answer: C

View Text Solution

0.66

0.33

0.66

0.33

76. When Zinc piece is kept in  solution the copper gets

precipitated due to standard potential of Zinc is ………….. .

CuSO4

https://dl.doubtnut.com/l/_jZhcNd6Z9uKp
https://dl.doubtnut.com/l/_BChzznCZxObm
https://dl.doubtnut.com/l/_rkoZf5acPRcj


A. gt copper

B. lt copper

C. gt sulphate

D. lt sulphate

Answer: B

View Text Solution

77. Which equation shows the relation between electrode potential (E )

standard electrode potential  and concentration of ions in solution

is ……………….. .

A. Kohlrausch's equation

B. Nernst equation

C. Ohm's equation

D. Faraday's equation

(E ∘ )

https://dl.doubtnut.com/l/_rkoZf5acPRcj
https://dl.doubtnut.com/l/_bvNZxF1y3s5R


Answer: B

View Text Solution

78. The standard electrode potential of SHE at 298 K is …………… .

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

0.05V

0.01V

0.0V

0.11V

79. The reaction  has a standard potential of 

. This means

Zn2 + + 2e− → Zn −0.76V

https://dl.doubtnut.com/l/_bvNZxF1y3s5R
https://dl.doubtnut.com/l/_igjfvsvjErz0
https://dl.doubtnut.com/l/_Vr7yeN9nDDyB


A. Zn cannot replace hydrogen from acids

B. Zn is a reducing agent

C. Zn is an oxidising agent

D.  is a reducing agent

Answer: B

View Text Solution

Zn2 +

80. K,Ca and Li metals may be arranged in the decreasing order of their

standard electrode potentials as …………… .

A. K, Ca, Li

B. Ca, K, Li

C. Li, Ca, K

D. Ca, Li,K

Answer: B

https://dl.doubtnut.com/l/_Vr7yeN9nDDyB
https://dl.doubtnut.com/l/_2o4JxB6CoRbm


View Text Solution

81. The correct order of chemical reactivity with water according to

electrochemical series ………. .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

K > Mg > Zn > Cu

Mg > Zn > Cu > K

K > Zn > Mg > Cu

Cu > Zn > Mg > K

82. For a spontaneous reaction, the , the equilibrium constant 

and  will be respectively ………. .

A. 

ΔG (K)

E ∘
cell

−ve, > 1, + ve

https://dl.doubtnut.com/l/_2o4JxB6CoRbm
https://dl.doubtnut.com/l/_VaGXMspKG8Fp
https://dl.doubtnut.com/l/_zkeHh5CbjQNi


B. 

C. 

D. 

Answer: A

View Text Solution

+ve, > 1, − ve

−ve, < 1, − ve

−ve, > 1, − ve

83.  values of  is  is 

 is . Which of the following statement

is correct ?

A. Zn will reduce 

B. Zn will reduce 

C. Mg oxidises Fe

D. Zn oxidises Fe

Answer: A

E ∘ mg2 + /mg −2.37V , Zn2 + /Zn

−0.76V , and Fe2 + /Fe −0.44V

Fe2 +

mg2 +

https://dl.doubtnut.com/l/_zkeHh5CbjQNi
https://dl.doubtnut.com/l/_ct8uth1pnRWK


View Text Solution

84. In which cell, the free energy of a chemical reaction is directly

converted into elecricity ?

A. Lechanche cell

B. Fuel cell

C. Lead storage battery

D. Lithium ion battery

Answer: B

View Text Solution

85. Which of the following has the highest electrode potential ?

A. Li

B. Cu

https://dl.doubtnut.com/l/_ct8uth1pnRWK
https://dl.doubtnut.com/l/_VwwBquTK7PQt
https://dl.doubtnut.com/l/_qeDSXnTRbAIJ


C. Au

D. Al

Answer: C

View Text Solution

86. Consider the following statements. 

(i) A slat bridge is used to eliminate liquid junction potential 

(ii) The Gibbs free energy change  is related with electro motive force

(E ) as . 


(iii) Nernst equation for a single electrode potential is

 


(iv) The efficiency of a hydrogen oxygen fuel cell is . 


Which of the above statement is l are not correct ?

A. i & ii

B. ii & iii

ΔG

ΔG = − nFE

E = E ∘ − lnamn+
RT

nF

23 %

https://dl.doubtnut.com/l/_qeDSXnTRbAIJ
https://dl.doubtnut.com/l/_DuDleo0w4sOV


C. iv only

D. i only

Answer: C

View Text Solution

87. The specific conductance of  solution at  is 

 . The resistance of the cell containing the solution at

the same temperature was found to be 55 Ohm. The cell constant will be

………. .

A. 

B. 

C. 

D. 

Answer: B

Vi T S l i

0.1NKCl 23∘C

0.012Ohm− 1cm− 1

0.142cm− 1

0.66cm− 1

0.918cm− 1

1.12cm− 1

https://dl.doubtnut.com/l/_DuDleo0w4sOV
https://dl.doubtnut.com/l/_YO98yehesiQs


View Text Solution

88. Which of the following reaction is used to make a fuel cell?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Cd ( s ) + 2Ni(OH)3 ( s ) → CdO ( s ) + 2Ni(OH) + H2O ( l )

Pb ( s ) + PbO2 ( s ) + 2H2SO4 ( aq ) → 2PbSO4 ( s ) + 2H2O ( l )

2Fe ( s ) + O2 ( g ) → 2H2O ( l )

2Fe ( s ) + O2 ( g ) + 4H +
( aq ) → 2Fe2 +

( aq ) + 2H2O ( l )

89. When lead storage battery is charged ………….. .

A.  is dissolved

B.  is regenerated

C.  is deposited on lead electrode

PbO2

H2SO4

PbSO4

https://dl.doubtnut.com/l/_YO98yehesiQs
https://dl.doubtnut.com/l/_kYbr9qGBT3xD
https://dl.doubtnut.com/l/_4i4iUhBfWgiK


D. Lead is deposited on lead electrode

Answer: C

View Text Solution

90. Which colourless gas evolves when  reacts with Zinc in a dry

cell battery?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

NH4Cl

NH3

N2

H2

Cl2

https://dl.doubtnut.com/l/_4i4iUhBfWgiK
https://dl.doubtnut.com/l/_M26G0MCQys4F


91. A cell from the following which converts electrical energy into

chemical energy?

A. dry cell

B. Electro chemical cell

C. Electrolytic cell

D. Lithium ion battery

Answer: C

View Text Solution

92. When  Coulomb of electricity is passed through a solution of

silver nitrate (Atomic weigth of Ag = 107.85g), the amount of silver

deposited is ………………….. .

A. 

B. 

9.65

10.8mg

5.4mg

https://dl.doubtnut.com/l/_BwpyxRYvrUwZ
https://dl.doubtnut.com/l/_s7H42orrhw7L


C. 

D. 

Answer: A

View Text Solution

16.2mg

21.2mg

93. What weight of copper will be deposited by passing 2 Faraday's of

electricity through a cupric salt (Atomic weight of Cu = 63.5)

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

2.0g

3.175g

63.5g

127.0g

https://dl.doubtnut.com/l/_s7H42orrhw7L
https://dl.doubtnut.com/l/_t9XMTSCar7rU
https://dl.doubtnut.com/l/_WtBZCSlU7PUQ


94. In electrolysis of a fused salt, the weight of the deposite on an

electrode will not depend on …………….

A. temeperature of the bath

B. current intensity

C. electro chemical equivalent of ions

D. time for electrolysis

Answer: A

View Text Solution

95. The mass deposited at an electrode is directly proportional to …………….

.

A. atomic weight

B. equivalent weight

C. molecular weight

https://dl.doubtnut.com/l/_WtBZCSlU7PUQ
https://dl.doubtnut.com/l/_TkkD8twwXlOd


D. atomic number

Answer: B

View Text Solution

96. Which solution will show the highest resistance during the passage of

current ?

A. 0.05 N NaCl

B. 2N NaCl

C. 0.1 N NaCl

D. 1 N NaCl

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_TkkD8twwXlOd
https://dl.doubtnut.com/l/_bwlzyefveGUH


97. In a galvanic cell, the electrons flow from ……………… .

A. anode to cathode through the solution

B. cathode to anode through the solution

C. anode to cathode through the external circuit

D. cathode to anode through the external circuit

Answer: C

View Text Solution

98. Rusting of iron is catalysed by which of the following ?

A. Fe

B. 

C. 

D. 

O2

Zn

H +

https://dl.doubtnut.com/l/_O8a4Z9IGhy62
https://dl.doubtnut.com/l/_8o40tb4DgqJN


Answer: D

View Text Solution

99. The conductivity of strong electrolyte is ……….. .

A. increase on dilutin slightly

B. decrease on dilution

C. does not change with dilution

D. depend upon density of electrolyte itself.

Answer: A

View Text Solution

100. Which one of the not a conductor of electricity ?

A. NaCl ( aqueous )

https://dl.doubtnut.com/l/_8o40tb4DgqJN
https://dl.doubtnut.com/l/_CikCHtTmsWZj
https://dl.doubtnut.com/l/_j2EpObguZA9y


B. 

C. 

D. 

Answer: B

View Text Solution

NaCl ( solid )

NaCl ( molten )

Ag ( metal )

101. The molar conductivity is maximum for the solution of

concentration………………. .

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

0.001m

0.005m

0.002m

0.004m

https://dl.doubtnut.com/l/_j2EpObguZA9y
https://dl.doubtnut.com/l/_TW0tyY62TJPG


102. Resistance of 0.2 m solution of an electrolyte is . The

specific conductance of the solution is . If resistance of 0.4 m

solution of the same electrolyte is , its molar conductivity is

………… .

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

50Ohm− 1

1.3Sm− 1

260Ohm− 1

62.5Sm2mol− 1

6250Sm2mol− 1

62.5 × 10− 4Sm2mol− 1

625 × 10− 4Sm2mol− 1

103. Saturated solution of KCl (or)  is used to make salt bridge

because

Na2SO4

https://dl.doubtnut.com/l/_TW0tyY62TJPG
https://dl.doubtnut.com/l/_D9pdWUizNujA
https://dl.doubtnut.com/l/_XN5fiw47RU5Y


A. velocity of  is greater than that of 

B. velocity of  is greater than that of 

C. velocity of both  and  are nearly the same

D. KCl is highly soluble in water

Answer: C

View Text Solution

K + Cl−

Cl− K +

K + Cl−

104. Which of the following electrolytic solutions has the least specific

conductance ?

A. 

B. 

C. 

D. 

Answer: D

0.02N

0.2N

2N

0.002N

https://dl.doubtnut.com/l/_XN5fiw47RU5Y
https://dl.doubtnut.com/l/_CE1HfdnQCp1v


View Text Solution

105. An increase in equivalent conductance of a strong electrolyte with

dilution is mainly due to ……………. .

A. increase in both the number of ions and ionic mobility of ions

B. increase in number of ions

C. increase in ionic mobility of ions

D. 100% ionization of electrolyte at normal dilution

Answer: C

View Text Solution

106. Li occupies higher position in the electrochemical series of metal as

compared to Cu, since

https://dl.doubtnut.com/l/_CE1HfdnQCp1v
https://dl.doubtnut.com/l/_ymw5NspusSPx
https://dl.doubtnut.com/l/_e4dcnY9jROXi


A. the standard reduction potential of  is lower than that of 

.

B. the standard reduction potential of  is lower than that

of 

C. the standard oxidation potential of  is lower than that of 

D. Li is smaller in size as compared to Cu.

Answer: A

View Text Solution

Li+ /Li

Cu2 + /Cu

Cu2 + /Cu

Li+ /Li

Li/Li+

Cu/Cu2 +

107. The one which decreases with dilution is ………… .

A. conductance

B. specific conductance

C. equivalent conductance

https://dl.doubtnut.com/l/_e4dcnY9jROXi
https://dl.doubtnut.com/l/_KhtrCteGsQX6


D. molar conductance

Answer: B

View Text Solution

108. Corrosion of iron is essentially an electrochemical phenomenon

where the cell reactions are ………………. .

A. Fe is oxidised to  and dissolved oxygen in water is reduced to 

B. Fe is oxidised to  and  is reduced to 

C. Fe is oxidised to  is reduced to 

D. Fe is oxidised to  is reduced to 

Answer: A

View Text Solution

Fe2 +

OH −

Fe3 + H2O O2 −
2

Fe2 + and H2O O−
2

Fe2 + and H2O O2

https://dl.doubtnut.com/l/_KhtrCteGsQX6
https://dl.doubtnut.com/l/_jYObu1xi8a9m
https://dl.doubtnut.com/l/_oatn9srKJoKS


109. A button cell used in watches functions as following : 

`Zn_((s)) + Ag_(2)O_((s)) + H_2O_((l)) If half cell potential are

 


 


 


The cell potential will be ............... .

A. 1.10 V

B. 0.42 V

C. 0.84 V

D. 1.34 V

Answer: A

View Text Solution

Zn2 +
( aq ) + 2e− → Zn ( s )

E ∘ = − 0.76V

Ag2O ( s ) + H2O ( l ) + 2e− → 2Ag ( s ) + 2OH −
( aq ) E

∘ = 0.34V

110. Among the following cells Leclanche cell (I) Nickel-cadmium cell (II),

Lead storage battery (III) and Mercury Cell (IV), primary cells are …………. .

https://dl.doubtnut.com/l/_oatn9srKJoKS
https://dl.doubtnut.com/l/_WEWnriBH0mtk


Additional Questions Fill In The Blanks

A. I & II

B. I & III

C. II & III

D. I & IV

Answer: D

View Text Solution

1. .................. Is defined as the resistance of an electrolyte confined between

two electrons having unit cross sectional area and separated by a unit

distance

View Text Solution

https://dl.doubtnut.com/l/_WEWnriBH0mtk
https://dl.doubtnut.com/l/_BN5hNRQ8kcsu


2. The reciprocal of the specific reistance is called the ............... And

represented by symbol

View Text Solution

3. The SI unit of sepecific conductance is ............ .

View Text Solution

4. The relation between equivalent condutance and the specific

conductance is given as ............. .

View Text Solution

5. Conductivity increases with the ................... In viscosity .

View Text Solution

https://dl.doubtnut.com/l/_Gi0usFZKMzYK
https://dl.doubtnut.com/l/_zpjTTBtUIMC4
https://dl.doubtnut.com/l/_I5TPRPXHeJs6
https://dl.doubtnut.com/l/_Uy6MbM8YU5ZI
https://dl.doubtnut.com/l/_DpWxZZyzn9l5


6.  values of the weak electrolytes can be determined using .................... .

View Text Solution

Λ ∘
m

7. ................ Is a device in which a spontaneous chemical reactoin generates

an electric current.

View Text Solution

8. ................... Is a device that converts electrical energy into chemical

energy.

View Text Solution

9. The salt bridge contains a agar-agar gel mixed with an inert electrolyte

such as .............................. .

View Text Solution

https://dl.doubtnut.com/l/_DpWxZZyzn9l5
https://dl.doubtnut.com/l/_aHaAfdCpxSI0
https://dl.doubtnut.com/l/_GWZrC96pFvtt
https://dl.doubtnut.com/l/_5IGtOqJXwVz8


10. The SI unit of cell potential is ................ .

View Text Solution

11. The value of charge of one electron is equal to ................................ .

View Text Solution

12. For a spontaneous cell reaction, the  should be .................... .

View Text Solution

ΔG

13. ................... Is a process in which electrical energy is used to cause a non-

spontaneous chemical reaction.

View Text Solution

https://dl.doubtnut.com/l/_5IGtOqJXwVz8
https://dl.doubtnut.com/l/_eLibUiArJRFM
https://dl.doubtnut.com/l/_tBZOyJZLeTif
https://dl.doubtnut.com/l/_jBcmdf4BGkC6
https://dl.doubtnut.com/l/_uX4bwNZrkDb2
https://dl.doubtnut.com/l/_gVS00PWgpDbE


14. The negative  values shows that the reactoins are ....................... .

View Text Solution

E ∘

15. ............................ Is defined as the amount of a substance deposited or

liberated at the electrode bya charge of 1 Coulomb.

View Text Solution

16. .................... Cell is used in pacemakers, electronic watches and cameras.

View Text Solution

17. .................... Battery is used in automobiles.

View Text Solution

https://dl.doubtnut.com/l/_gVS00PWgpDbE
https://dl.doubtnut.com/l/_s8KY0rKcCGcv
https://dl.doubtnut.com/l/_DpeW6EnXGQIb
https://dl.doubtnut.com/l/_aOoIu2fHIZKR


Additional Questions Match The Following

18. Rusting of iron is an ................. Process.

View Text Solution

1.  


Using the code given below, match the column I and Column II.

A. 

B. 

C. 

D. 

Answer: A

ColumnI Column II

(i)Ohm's law (a)Ecell = E ∘
cell − log

(ii)Kohlraush's law (b)m = ZIT

(iii)Nernst equation (c)V = IR

(iv)Faradays first law (d)(Λ ∘
m)

AxBY
= x(Λ ∘

m)
Ay + + y(Λ ∘

m)
Bx−

0.0591
A

[C ] 1 [D ]m

[A ] x [B ] y

A B C D

c d a b

A B C D

a b c d

A B C D

d c b a

A B C D

b a d c

https://dl.doubtnut.com/l/_9OurVcOfmBib
https://dl.doubtnut.com/l/_6UXIkQVDh3Yb


View Text Solution

2. 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(i) Resistance (a) Ohm m 

(ii) Resistivity (b)Sm− 1

(iii) Conductance (c)Ohm

(iv) Specific conductance (d) S

A B C D

a b c d

A B C D

c a d b

A B C D

d c b a

A B C D

b d a c

3. 

(i) Cell constant (a)Sm2mol− 1

(ii) equivalent conductance (b)Sm− 1

(iii) Molar conductance (c)Sm2geq− 1

(iv) Specific conductance (d)m− 1

https://dl.doubtnut.com/l/_6UXIkQVDh3Yb
https://dl.doubtnut.com/l/_qdUZUtv4FcM7
https://dl.doubtnut.com/l/_V1JuE1yEKdd9


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

A B C D

a b c d

A B C D

c d b a

A B C D

b a b c

A B C D

d c a b

4. 

A. 

B. 

C. 

D. 

Answer: D

(i) Li-ion battery (a) Pacemakers

(ii) Mercury button cell (b) Fuel cell

(iii) Lead storage battery (c ) Cell phone

(iv) H2 − O2  cell (d) Inverter

A B C D

a b c d

A B C D

d c b a

A B C D

b d a c

A B C D

c a d b

https://dl.doubtnut.com/l/_V1JuE1yEKdd9
https://dl.doubtnut.com/l/_1v7TGOq79rbt


View Text Solution

5. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(i)Zn - anode, Graphite - cathode with MnO2 (a) Lithium - ion battery

(ii) Zn amalgamated with mercury anode, (b)  Leclanche cell

    HgO mixed with graphite cathode

(iii) Spongy lead anode, plate bearing PbO2 (c )Mercury button cell

(iv) Porous graphite andoe CoO2  cathode (d) Lead storage battery

A B C D

b c d a

A B C D

a b c d

A B C D

d a b c

A B C D

c d a b

https://dl.doubtnut.com/l/_1v7TGOq79rbt
https://dl.doubtnut.com/l/_fuFoWGoFgAoi


Additional Questions Assertion And Reason

6. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Electrolyte Battery

(i)NH4Cl + ZnCl2 + H2O (a) Mercury button cell

(ii) Paste of KOH and ZnO (b) Lithium - ion battery

(iii) 38% by mass of H2SO4 (c ) Leclanche cell

(iv) Lithium salt in an organic solvent (d) Lead storage battery

A B C D

c a d b

A B C D

d c b a

A B C D

a b c d

A B C D

c a d b

1. Assertion (A) : If the temperature of the electrolytic solution increases,

conductance also increases. 

Reason (R) : Increase in temperature increases the kinetic energy of the

https://dl.doubtnut.com/l/_Zv3LgjIN3Nn6
https://dl.doubtnut.com/l/_CTriBbvx2rvb


ions and decreases the attractive force between the oppositely charged

ions and hence conductivity increases.

A. Both A and R are correct and R is the correct explanation of A

B. Both A and R are wrong

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

2. Assertion (A) : Molar conductance of a solution increases with increase

in dilution. 

Reason (R) : For a strong electrolyte, inter ionic force of attraction

decreases with dilution and so conductivity increases. For a weak

electrolyte, degree of dissociation increases with dilution and coductivity

increases.

https://dl.doubtnut.com/l/_CTriBbvx2rvb
https://dl.doubtnut.com/l/_IinhxY36engc


A. Both A and R are correct and R is the correct explanation of A

B. Both A and R are wrong

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

3. Assertion (A) : AC current is used in wheatstone bridge arrangement to

measure conductivity of ionic solution. 

Reason (R) : If DC current is used in wheatstone bridge arrangement, it

will lead to electrolysis of the solution taken in the cell. So AC current is

used to prevent electrolysis.

A. Both A and R are correct and R is the correct explanation of A

B. Both A and R are wrong

C. A is correct but R is wrong

https://dl.doubtnut.com/l/_IinhxY36engc
https://dl.doubtnut.com/l/_Df2lNemgUzt5


D. A is wrong but R is correct

Answer: A

View Text Solution

4. Assertion (A) : Strong electrolytes have low molar conductivity at high

concentration. 

Reason (R) : For a strong electrolyte, at high concentration, the number

of constituent ions of the electrolyte is high and hence the attractive

force between the oppositely charged ions is also high.

A. Both A and R are correct and R is the correct explanation of A

B. Both A and R are wrong

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_Df2lNemgUzt5
https://dl.doubtnut.com/l/_qas0tNU12Wvl


View Text Solution

5. Assertion (A) : In Daniel cell, the salt bridge contains an agar-agar gel

mixed with an inert electrolyte KCl (or)  


Reason (R) : The ions of inert electrolyte do not react with other ions

present in half cells and they are not either oxidised or reduced at

electrodes.

A. Both A and R are correct

B. Both A and R are wrong

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

Na2SO4

6. Assertion (A) : Current stops flowing when  


Reason (R) : At , Equilibrium of the cell reaction is attained.

Ecell = 0

Ecell = 0

https://dl.doubtnut.com/l/_qas0tNU12Wvl
https://dl.doubtnut.com/l/_SuAg7ZkKJkqU
https://dl.doubtnut.com/l/_ve2xFR9wRFxA


A. Both A and R are correct

B. Both A and R are wrong

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

7. Assertion (A) : Copper sulphate can be stored in a Zinc vessel. 

Reason (R) : Zinc is less reactive than Copper.

A. Both A and R are correct

B. Both A and R are wrong

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: B

https://dl.doubtnut.com/l/_ve2xFR9wRFxA
https://dl.doubtnut.com/l/_lQv3XIbGeJvh


View Text Solution

8. Assertion (A) : As a lead storage battery gets discharged, density of

electrolyte present in decreases. 

Reason (R) : Lead and Lead dioxide both react with sulphuric acid to form

lead sulphate.

A. Both A and R are correct

B. Both A and R are wrong

C. A is correct but R is wrong

D. A is wrong but R is correct

Answer: A

View Text Solution

9. Assertion (A) : The cell potential of mercury cell is 1.35 V which remains

constant. 

https://dl.doubtnut.com/l/_lQv3XIbGeJvh
https://dl.doubtnut.com/l/_hSHA9VdF4sqp
https://dl.doubtnut.com/l/_coUc4uTHGuf6


Reason (R): In mercury cell, the electrolyte is a paste of KOH and ZnO.

A. Both A and R are correct, but R is not the correct explanation of A.

B. Both A and R are correct, but R is the correct explanation of A.

C. A is wrong but R is correct

D. A is correct but R is wrong

Answer: A

View Text Solution

10. Assertion (A) : If an iron rod is dipped in  solution, then blue

colour of solution turns red. 

Reason (R) : Iron is more reactive than copper and so iron displaces

copper from  solution.

A. Both A and R are correct, but R is not the correct explanation of A.

B. Both A and R are correct, but R is the correct explanation of A.

C. A is wrong but R is correct

CuSO4

CuSO4

https://dl.doubtnut.com/l/_coUc4uTHGuf6
https://dl.doubtnut.com/l/_kAKEmgqBgA1y


Additional Questions Find The Odd One Out And Give The Reasons

D. A is correct but R is wrong

Answer: A

View Text Solution

1. Find the odd one out and give the reasons :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

IαV

I =
V

R

V = IR

R =
I

V

https://dl.doubtnut.com/l/_kAKEmgqBgA1y
https://dl.doubtnut.com/l/_pRA9yisDOBxB
https://dl.doubtnut.com/l/_EO0dXqOPBRtG


2. Find the odd one out and give the reasons :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

m = ZIt

Z =
m

It

mαIt

=
ml

Zl

m2

Z2

3. Find the odd one out and give the reasons :

A. Pacemaker

B. electronic watches

C. trains

D. cameras

https://dl.doubtnut.com/l/_EO0dXqOPBRtG
https://dl.doubtnut.com/l/_Vi95HWHJH8ho


Answer: C

View Text Solution

4. Find the odd one out and give the reasons :

A. Automobiles

B. Pacemaker

C. Train

D. Inverters

Answer: B

View Text Solution

5. Find the odd one out and give the reasons :

A. Cellular phone

https://dl.doubtnut.com/l/_Vi95HWHJH8ho
https://dl.doubtnut.com/l/_1Af8IpJFIeL3
https://dl.doubtnut.com/l/_zeM5VcyJPWxb


Additional Questions 2 Mark Questions

B. Laptop

C. Digital Camera

D. Electronic watch

Answer: D

View Text Solution

1. State Ohm's law.

View Text Solution

2. Define Resistivity . Give its unit.

View Text Solution

https://dl.doubtnut.com/l/_zeM5VcyJPWxb
https://dl.doubtnut.com/l/_Hel5IHy8yEUd
https://dl.doubtnut.com/l/_CPhYo4igk1sW
https://dl.doubtnut.com/l/_NroPuJ5ku5GJ


3. Define conductance and give its unit.

View Text Solution

4. Define specific conductance . Give its SI unit.

View Text Solution

5. What is meant by resistance ? Given its unit.

View Text Solution

6. What is molar conductance? Give its SI unit.

View Text Solution

7. Define equivalent conductance. Give its SI unit.

Vi T t S l ti

https://dl.doubtnut.com/l/_NroPuJ5ku5GJ
https://dl.doubtnut.com/l/_QewrMRkzOjM0
https://dl.doubtnut.com/l/_eBqhJZpW9AgV
https://dl.doubtnut.com/l/_A1twyKkdAZbW
https://dl.doubtnut.com/l/_eDgt0YFmlfkJ


View Text Solution

8. What are electro chemical cells? Mention its types.

View Text Solution

9. Distinguish between galvanic cell and electrolytic cell.

View Text Solution

10. What is meant by Faraday? How is it calculated?

View Text Solution

11. Define corrosion. Give one example.

View Text Solution

https://dl.doubtnut.com/l/_eDgt0YFmlfkJ
https://dl.doubtnut.com/l/_I4q8eVXErq1X
https://dl.doubtnut.com/l/_MgLTEWC5iK0c
https://dl.doubtnut.com/l/_dqp42a5AeNxm
https://dl.doubtnut.com/l/_mItlNED8lNL7
https://dl.doubtnut.com/l/_9ED5k0nVCXEX


12. Can you stroe copper sulphate solution in a zine pot?

View Text Solution

13. Why does the conductivity of a solution decrease with dilution?

View Text Solution

14. Suggest a way to determine  value of water.

View Text Solution

λ ∘
m

15. Write the chemistry of reacharging the lead storage battery ,

highlighting all the meterial that are involved during recharging?

View Text Solution

https://dl.doubtnut.com/l/_9ED5k0nVCXEX
https://dl.doubtnut.com/l/_KWI4C2nNDx6f
https://dl.doubtnut.com/l/_FRkQk7hW1cbS
https://dl.doubtnut.com/l/_GIe93HhKOasF


16. What is meant by cell constant?

View Text Solution

17. State two advantages of  fuel cell over ordinary cells.

View Text Solution

H2 − O2

18. Why  for  cannot be determined experimentally /

View Text Solution

λ ∘
m CH3COOH

19. Which will have greater molar conductivity and why? 

Sol.(A) 1 mol KCl dissolved in 200 cc of the solution. 

Sol.(B) 1 mol KCl dissolved in 500 cc of the solution.

View Text Solution

https://dl.doubtnut.com/l/_Gj9ljmZhP5i2
https://dl.doubtnut.com/l/_se6cOSBgJ2N9
https://dl.doubtnut.com/l/_9r3wCLGBfMIt
https://dl.doubtnut.com/l/_e6pvzzGNOZuH
https://dl.doubtnut.com/l/_0eOGlni5mgp3


Additional Questions 3 Mark Questions

20. Raju and his father were going in a boat in the river. Raju's father was

going to throw away the cell used in watches and hearing aids into the

water. Raju prevented him doing so. 

(a) As a student of chemistry , why would you advise Raju's father not to

throw the cell in the water body? 

(b) What is the value associated with the above decision ?

View Text Solution

1. Explain abut conductivity cell with an example.

View Text Solution

2. Explain about the factors affecting electrolytic conductance.

View Text Solution

https://dl.doubtnut.com/l/_0eOGlni5mgp3
https://dl.doubtnut.com/l/_vmZHd6PCo8Yq
https://dl.doubtnut.com/l/_mvgF6uEHb1Ud


3. Explain about the variation of molar conductivity with concentration by

Kohlraush studies?

View Text Solution

4. For strong electrolytes the molar conductivity increases on dilution

and reaches a maximum value at infinite dilution. Justify this statement.

View Text Solution

5. For weak electrolyte, sudden increase in molar conductance with

dilution. Prove this statement.

View Text Solution

6. Explain about Debye-Huckel and Onsager equation.

View Text Solution

https://dl.doubtnut.com/l/_NuA6OE8CmrjV
https://dl.doubtnut.com/l/_UGjJEQioJweq
https://dl.doubtnut.com/l/_KGKs38ECoI0e
https://dl.doubtnut.com/l/_ifXrh98r6g2F


7. What are the values of A and B in Debye Huckel and Onsagar equation?

View Text Solution

8. How will you calculate degree of dissociation of weak electrolytes and

dissociation constant using Kohlrausch's law?

View Text Solution

9. How would you calculate the solubility of sparingly soluble salt using

Kohlrausch's law?

View Text Solution

10. What is the relationship between molar mass and electro chemical

equivalent. Derive the equation.

https://dl.doubtnut.com/l/_ifXrh98r6g2F
https://dl.doubtnut.com/l/_ciH7L8IZpuB0
https://dl.doubtnut.com/l/_C290vpBNtMVU
https://dl.doubtnut.com/l/_PvNL2gQGB8Ai
https://dl.doubtnut.com/l/_uru8IWr9o93f


View Text Solution

11. What is meant by standard reduction potential ? What is its

application?

View Text Solution

12. What is meant by Electro chemical series? Mention the top most and

the least placed element in that series.

View Text Solution

13. Calculate the emf of the cell in which the following reaction takes

place 

 


Given that .

View Text Solution

Ni(s) + 2Ag+ (0.002M) → Ni2 + (0.160M) + 2Ag(s)

E ∘
cell = 1.05V

https://dl.doubtnut.com/l/_uru8IWr9o93f
https://dl.doubtnut.com/l/_mWVhUbBUxdKI
https://dl.doubtnut.com/l/_J7d64TkHJCBO
https://dl.doubtnut.com/l/_IQYf2aaC87ns


14. If a current of 0.5 ampere flows through a metallic wire for 2-hours,

then how many electrons would flow through the wire?

View Text Solution

15. What are fuel cells ? Write the electrode reactions of a fuel cell which

uses the reaction of hydrogen with oxygen?

View Text Solution

16. Write the cell reaction which occur in the lead stroage battery 

(i) When the battery is in use, 

(ii) When the battery is charging.

View Text Solution

https://dl.doubtnut.com/l/_2SltglLiQGNg
https://dl.doubtnut.com/l/_IcZf5DZqBEAF
https://dl.doubtnut.com/l/_q44rgqJb8CSv


17. Describe the composition of anode and cathode in a mercury cell.

Write the electrode reactions for this cell.

View Text Solution

18. How much copper is deposited on the cathode of an electrolytic cell if

a current of 5 ampere is passed through a solution of copper sulphate

for 45 minutes? [Molar mass of

View Text Solution

Cu = 63.5gmol− 1, 1F = 96, 500Cmol− 1]

19. How much time would it take in minutes to deposit 1.18 g of metallic

copper on a metal object when a current of 2.0 A is passed through the

electrolytic cell containing  ions? 


[Molar mass of 

View Text Solution

Cu2 +

Cu = 63.5gmol− 1, 1F = 96, 500Cmol− 1]

https://dl.doubtnut.com/l/_eWXgASsfki5f
https://dl.doubtnut.com/l/_2OZjjGrPJjUd
https://dl.doubtnut.com/l/_ZhVAU3FAtV8P


Additional Questions 5 Mark Questions

20. Write is a salt bridge ? What is it used for ?

View Text Solution

21. Calculate emf of the following cell of  : 


 


 


View Text Solution

25∘C

Fe∣∣Fe
2 + (0.001M)∣∣∣∣H

+ (0.01M)∣∣H2(g)(1¯)pt

E (Fe2 + /Fe ) = − 0.44V

E ∘
(H + /H2 ) = 0.00V

22. What is corrosion?  is always present in natural water. Explain its

effect (increases, stops or no effect) on rusting of Fe.

View Text Solution

CO2

https://dl.doubtnut.com/l/_uQjK7MFAiKlT
https://dl.doubtnut.com/l/_fHlhI8Ych3mk
https://dl.doubtnut.com/l/_tqj4UL6jlv49
https://dl.doubtnut.com/l/_g2gbdNonGU2P


1. How would you measure the conductivity of ionic solutions?

View Text Solution

2. Explain about SHE (Standard Hydrogen Electrode).

View Text Solution

3. How would you determine the reduction potential of ?

View Text Solution

Zn/Zn2 + (aq)

4. How will you calculate the reduction potential of Half cell?

View Text Solution

https://dl.doubtnut.com/l/_g2gbdNonGU2P
https://dl.doubtnut.com/l/_2tp0Mbmh2m9w
https://dl.doubtnut.com/l/_INu0J2TU0exj
https://dl.doubtnut.com/l/_YipOKRSjG6o7


5. Derive the relationship between Gibb's free energy and maximum work

obtained from galvanic cell and equillibrium constant.

View Text Solution

6. Describe about the working principle of Leclanche cell. 

View Text Solution

https://dl.doubtnut.com/l/_PvGNcQ64jof9
https://dl.doubtnut.com/l/_qVTxlAeWEZom


7. Explain about the construction and uses of mercury button cell.

View Text Solution

8. Describe about lead stroage battery construction and its uses.

View Text Solution

9. Describe about lithium - ion battery and its uses.

View Text Solution

10. What is corrosion? Explain about the electrochemical mechanism of

corrosion.

View Text Solution

https://dl.doubtnut.com/l/_Oxkkzpr42pdV
https://dl.doubtnut.com/l/_O5F8w4QSn5ad
https://dl.doubtnut.com/l/_BwLwrfuNWnaH
https://dl.doubtnut.com/l/_BS8rAvyBRQm2


11. Explain about the various protrction methods to prevent corrosion.

View Text Solution

12. (a) Give reasons for the following 

(i) Rusting of iron is quicker in saline water than in ordinary water. 

(ii) Aluminium metal cannot be prodcued by the electrolysis of aqueous

solution of aluminium salt. 

(b) Resistance of a conductivity cell filled with 0.1 M KCl solution is 100

ohms. If the resistance of the same cell when filled with 0.02 M KCl

solution is 520 ohms, calculate the conductivity and molar conductivity of

0.02 M KCl solution. Conductivity of 0.01 M KCl solution is .

View Text Solution

1.29Sm− 1

13. (a) State two advantages of  fuel cell over ordinary cell. 


(b) Silver is electron deposited on a metallic vessl of total surface area

 by passing a current of 0.5 amp for two hours. 


H2 − O2

900cm2

https://dl.doubtnut.com/l/_SFDCx32TuVe1
https://dl.doubtnut.com/l/_dOqkr8sOiZ8Z
https://dl.doubtnut.com/l/_xpAGaGh4yX2c


Calcuate the thickness of silver metal deposited, 

[Given : Density of silver =  Atomic mass of silver = 108 u, 

.

View Text Solution

10.5gcm− 3

1F = 96500Cmol− 1]

14. Distinguish between Leclanche cell and Lead strorage battery.

View Text Solution

15. Account for the following 

(a) Aluminium undergo slow corrosion than iron. 

(b)  fuel cell is more useful than other cells .

View Text Solution

H2 − O2

https://dl.doubtnut.com/l/_xpAGaGh4yX2c
https://dl.doubtnut.com/l/_7vRL4381yaaN
https://dl.doubtnut.com/l/_iuw3H8jhBRS2

